Attachment B

2007 Economic Census

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises; Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration) Sectors

Report Form Numbers, Titles, and Associated Burden Estimates for FY 2008

Report Form Numbers, Titles, and Associated Burden Estimates for FY 2008

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises;
Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

E		Estimated	Estimated	Estimated
Form	Title	Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	All Report Forms		1,744,658	1,424,707
	Total Standard Report Forms		1,149,501	1,365,191
	Information Sector			
IN-51059	Data Processing, Hosting, and Related Services (Enterprise Support)	2.1	268	563
IN-51101	Newspaper Publishing	1.6	8,553	13,685
IN-51102	Book Publishing	1.6	3,054	4,886
IN-51103	Periodical Publishing	1.6	7,735	12,376
IN-51104	Greeting Card and Other Miscellaneous Publishing	1.6	1,704	2,726
IN-51105	Directory and Mailing List Publishing	1.6	1,767	2,827
IN-51106	Software Publishing	1.1	9,291	10,220
IN-51202	Motion Picture and Video Exhibition	1.0	5,097	5,097
IN-51204	Motion Picture and Video Production and Distribution	0.8	11,945	9,556
	Postproduction Services and Other Motion Picture and Video Industries	0.8	2,169	1,735
IN-51206	Record Production and Music Publishing	1.2	1,315	1,578
	Sound Recording Studios and Other Sound Recording Industries	1.2	2,080	2,496
IN-51250	Motion Picture and Video Production and Distribution (consolidated)	5.9	145	856
IN-51251	Integrated Record Production and Distribution (consolidated)	5.9	109	643
IN-51501	Broadcasting Services	1.6	10,535	16,856
	Cable and Other Program Distribution	1.6	1,281	2,050
IN-51702	Telecommunications	1.9	14,802	28,124
IN-51750	Telecommunications (consolidated)	7.4	729	5,395
IN-51751	Cable and Other Program Distribution (consolidated)	5.9	105	620
IN-51801	Data Processing, Hosting, and Related Services	1.1	14,579	16,037
IN-51901	Libraries and News Syndicates	1.1	3,929	4,322
IN-51902	Internet Publishing and Broadcasting	1.1	2,763	3,039
	Professional, Scientific, and Technical Services Sector			
PS-54059	Professional. Scientific, and Technical Services (Enterprise Support)	2.1	2,675	5,618
	Legal Services	2.0	47,524	95,048
	Accounting, Tax Preparation, Bookkeeping, and Payroll Services	1.1	30,882	33,970
	Architectural Services	1.3	7,670	9,971
	Surveying and Mapping Services	1.3	3,125	4,063
	Computer Systems Design and Related Services	1.1	35,006	38,507
	Advertising and Related Services	1.0	11,263	11,263
PS-54110	Other Professional Scientific and Technical Services	1.1	25.633	28.196
PS-54110 PS-54111	Other Professional Scientific and Technical Services Engineering Services	1.1 1.3	25,633 20,783	
PS-54110 PS-54111 PS-54112	Engineering Services	1.3	20,783	27,018
PS-54110 PS-54111 PS-54112 PS-54113	Engineering Services Building Inspection Services	1.3 1.3	20,783 1,193	27,018 1,551
PS-54110 PS-54111 PS-54112 PS-54113 PS-54114	Engineering Services Building Inspection Services Drafting Services	1.3 1.3 1.1	20,783 1,193 674	27,018 1,551 741
PS-54110 PS-54111 PS-54112 PS-54113 PS-54114 PS-54115	Engineering Services Building Inspection Services Drafting Services Specialized Design Services	1.3 1.3 1.1 1.1	20,783 1,193 674 7,845	27,018 1,551 741 8,630
PS-54110 PS-54111 PS-54112 PS-54113 PS-54114 PS-54115 PS-54116	Engineering Services Building Inspection Services Drafting Services Specialized Design Services Management Consulting Services	1.3 1.3 1.1 1.1 1.2	20,783 1,193 674 7,845 25,020	27,018 1,551 741 8,630 30,024
PS-54110 PS-54111 PS-54112 PS-54113 PS-54114 PS-54115 PS-54116 PS-54117	Engineering Services Building Inspection Services Drafting Services Specialized Design Services	1.3 1.3 1.1 1.1	20,783 1,193 674 7,845	28,196 27,018 1,551 741 8,630 30,024 8,298 3,142

Report Form Numbers, Titles, and Associated Burden Estimates for FY 2008

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises; Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	Management of Companies and Enterprises Sector	-	-	
MNI 55101	Holding Companies	1.5	19,592	29,388
	Corporate, Subsidiary, and Regional Managing Offices	2.1	37,963	79,722
WIN-33102	Corporate, Substitutiny, and Regional Managing Offices	2.1	37,903	19,122
	Administrative and Support and Waste Management and			
	Remediation Services			
AS-56059	Administrative and Support and Waste Management and Support Services (Enterprise			
	Support)	2.1	918	1,928
	Employment Services	1.1	29,269	32,196
AS-56102	Administrative and Other Support Services	0.9	19,430	17,487
	Travel Arrangement and Reservation Services	1.3	9,624	12,511
AS-56104	Security and Investigative Services	1.0	9,091	9,091
	Services to Buildings and Dwellings	1.1	37,351	41,086
AS-56106	Office Administration and Facilities Support Services	1.1	11,597	12,757
	Waste Collection, Treatment, and Disposal	1.1	5,165	5,682
AS-56203	Remediation and Other Waste Management Services	1.1	2,715	2,987
	Educational Services Sector			
ED-61101	Educational Services	0.9	16,995	15,296
	Health Care and Social Assistance Sector			
HC-62102	Outpatient Care Facilities and Medical and Diagnostic Laboratories	1.0	24,868	24,868
	Offices of Physicians and Other Health Practitioners	1.0	108,424	108,424
	Offices of Dentists	1.0	51,790	51,790
	Home Health Care Services	1.0	10,115	10,115
	Ambulance Services	1.0	1,862	1,862
	Other Ambulatory Health Care Services	1.0	2,760	2,760
HC-62201		1.6	7,318	11,709
	Nursing and Residential Care Facilities	1.2	51,580	61,896
	Services for Children and Youth	1.0	31,614	31,614
	Services for the Elderly, Mentally Retarded, and Disabled	1.0	7,865	7,865
	Service for Families and Individuals	1.0	12,092	12,092
	Food, Shelter, Relief, and Job Training Services	1.0	11,614	11,614
	Arts, Entertainment, and Recreation Sector			
AE-71101	Performing Arts Companies and Independent Artists, Writers, and Performers	1.0	13,031	13,031
	Spectator Sports	0.9	4,652	4,187
	Promoters, Agents, and Managers	1.0	7,057	7,057
	Museums, Art Galleries, Botanical and Zoological Gardens	1.3	7,029	9,138
	Other Amusement and Recreation Industries	1.3	27,535	35,796
	Amusement Parks and Arcades	1.3	1,520	1,976
	Gambling Industries	1.3	1,652	2,148
		1.0	1,002	2,110

Report Form Numbers, Titles, and Associated Burden Estimates for FY 2008

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises;
Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	Other Services (Except Public Administration) Sector			
00 01050	` -	2.1	719	1.510
	Repair, Laundry, and Other Selected Services (Enterprise Support) Motor Vehicle Repair and Maintenance	1.2	70,792	1,510 84,950
	Repair and Maintenance Services	1.0	19,979	19,979
	Personal Care Services	0.7	38,859	27,201
	Laundry Services	1.3	20,799	27,039
	Funeral Services, Cemeteries, and Crematories	1.0	11,820	11,820
	Other Personal Services	0.8	20,665	16,532
	Grantmaking and Advocacy	1.0	10,805	10,805
	Civic, Social, and Other Membership Organizations	1.1	22,725	24,998
	Total Classification Forms		595,157	59,516
	Professional, Scientific, and Technical Services Sector			
PS-54190	Classification Form	0.1	95,054	9,505
	Classification Form	0.1	68,082	6,808
	Classification Form	0.1	31,765	3,177
PS-54193	Classification Form	0.1	12,179	1,218
PS-54194	Classification Form	0.1	1,629	163
	Administrative and Support and Waste Management and Remediation Services			
AS-56190	Classification Form	0.1	13,892	1,389
AS-56191	Classification Form	0.1	11,878	1,188
AS-56192	Classification Form	0.1	16,572	1,657
AS-56290	Classification Form	0.1	1,443	144
	Educational Services Sector			
ED-61190	Classification Form	0.1	11,621	1,162
	Health Care and Social Assistance Sector			
	Classification Form	0.1	132,342	13,234
	Classification Form	0.1	8,452	845
HC-62490	Classification Form	0.1	33,371	3,337
	Arts, Entertainment, and Recreation Sector			
AE-71190	Classification Form	0.1	15,659	1,566
AE-71191	Classification Form	0.1	4,765	477
	Other Services (Except Public Administration) Sector			
	Classification Form	0.1	36,062	3,606
	Classification Form	0.1	16,200	1,620
	Classification Form	0.1	41,535	4,154
OS-81390	Classification Form	0.1	42,656	4,266